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RAWLINSON ROAD MIDDLE SCHOOL- Home of Raider PRIDE

Student Name: Date: April 1-17, 2020

Course: 7" Grade Math Teacher: A. Kobos and W. Mitchell
Teacher Office Hours: Kcbos 1pm —~ 3pm  Mitchell 10am — noon

Teacher Email: akobos@rhrnail.orq wmitchell@rhamil.org
Other form of contact if help is needed: Call or text Kobos- 704.488.5131 Mitchell- 803.389.7609

Instructions to complete the student packet:

Look at calendar page in the packet for daily assignment.

Instructions to submit work:

Take a picture of work and email to teacher.

Technology

Laptop issues: please email the help desk- hé!pdesk@rhmail.org or phone at (803)981-3531 and include
the following information:

Student ID number {(ex; R812345)

Parent/Guardian name, Parent/Guardian email and phene number contact information.
School Name ! Teacher name

A description of the problem with the computer

The Rock Hill Schools Technology Department Staff will be on call between the hours of 8AM - 8PM

Launchpad: hitps.//launchpad.classlink.com/rockhill Canvas: https:/frockhilLinstructure com/login/canvas

** For more information on remote learning, please visit:

RRMS website at hitps:/iwww.rock-hill.k12.s¢,us/domain/2596 or

RHS District website at: hitps:/fwww.rock-hill.k12.sc.us/elearning
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Name:

Weekly Math Review — Q27 Date:
Monday 4/2 Tuesday 43
Solve: Solve: o
—~25 4+ 4k < 50.52 42 < 2m—10

3

Graph the inequality on a number line:

x<4

L3

Write an inequality that represents the graph
below:

------

Write an inequality for x that would give this
rectangle an area of at least 117 7%

x5

3ft

In the problem to the left, solve the inequality
and represent it on the number fine below.

A 12 pack of soda is roughly $3.75. What is the
cost per can of soda?

A regular #2 pencil can draw a line about 35
miles long or write roughly 45,000 words. How
many words will fit in one mile?

Which eguation(s) represents a proportional

Circle the graph that represents a proportional

the price by 25%. What is the price for a shirt at
this store?

relationship? relationship.
A)y=7x e R
B)y=2+3x S35 74 PP S L
C)y =Y i i
D)y 5 X R N B -
A store buys shirts for $12 each and marks up

Jim borrows $2,500 from his bank. The loan has
a 5.4% annual simple interest rate. If it takes
Jim two years to pay back the foan, what is the
fotal amount he will be paying?

What is the slope between the points (-5,7) and
(4,-8)?

What is the slope indicated in the table below?
X10111213
Y| 0|5 |[10] 15

What is the slope below?

oy
Sy S
R A
L H 3
e fi
i
i

Find the missing value so that the two points
have a slope of —-.

(—3,9) and (x, —8)




Name:

Weekly Math Review - Q2:7 Date:
Wednesday 4H/i3 Thursday 4/14
Solve: Solve:
8 —6x > —18 12 > 9z + 2)

Soive and graph the inequality on a number
line:

42> g+ 27

Write an inequality that represents the graph
below:

Fa— vt
Tg3-4B2-t 20 2534 58T

A bowling alley offers unlimited bowling for
$16.00 or charges 3.75 per game. How many
games would you need to bowl for the unlimited
bowling to be less expensive?

Tim earns $150/week plus $15.50 for each desk
he assembles. Write an inequality to represent
how many desks he needs assemble to make

$400 in one week.

The rectangular wall below is painted in 15
minutes. How many square feet per minute
were painfed?

Bft

12

In the diagram {o the left, how long does it take
to paint 1 square foot?

A car company can make 18 cars in 12 hours.
How many cars can be made in 1 hour?

What is the cost of one gallon of gas?

o A Gaseline

P ERMRNER
tinsabor 92l

Julio invested $2,000 in a simple interest
account for 3 years. She had earned $150 in
interest by then end. What was the simple
interest rate of the account?

Jon makes $78 in 12 hours of work for his mom.
How much would Jon make in 20 hours or
work'?

What is the slope between the points (6,-3) and
(-2,1)7

What is the slope indicated in the table below?
X | 24618
Y [ 101 20 | 30 | 40

What is the slope beiow?

I 1

Find the missing value so that the two points
have a slope of —z-
(O;Y) and (2! -2)
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-Draw each figurge.

E R | | _,”_.. line segment L , b
_nqom_mi of .nj_m Um 2. line A " _,
~ Lesson Presentation 3. ray . "

4. plane

right & by Holr, Alnehsd 5

Copyright @ by Holk, Rix Eand st Course 2

) classifying Angles

: _u_.n..m.__mm..m _mm. m_...m Um< |

RSPV

Find the measure of the smaller angle P A Sy St S N
between the hour and minute hands on ___hmmg to identify m.:@_mm and angle pairs.

a clock at eight o’clock? e s

1.20°

‘Cotirse 2 -~ . <1 copytlnht ® by Relt; RiaHsr il

Cotwge 2, ° S L Copyright &Y aoBRitakir




) Classifying Angles

warmup | RN
‘Draw each figure.

Warm Up | | 1. line segment A
Problem of the Day - _ 2, line _
 Lesson Presentation - 3. ray |
| B T 4. plane

FHEhY €3 by 2011, Kinchar 2

11, Kt

Course 2 . fopyright & by Halt, wehark an Coupse 2

w7 Classifying Angles |

(E)Classifying Angles

‘Problem of the Day

Find the measure of the smaller angle
between the hour and minute hands on .
‘a clock at eight o’clock? .m_ R

120¢°

Learn to identify angles and angle pairs.

Cawrse 2+ .~ ©. . . - 0 Copyright © by Wale, Rlmehdrtan a  Course2 Copytight © by Helt, Rinabiart boil




| <onm_o:_m_.< | )
angie e
‘vertex ”.
‘right angle
‘acute angle _‘_
‘obtuse angle

straight angle

‘complementary angles
‘supplementary angles

‘Course 2 Teme o eHEL e opyrlght © By Wolt Rine

Classifying Angles

An angle’s measure determines the type of
angle it is.

A right angle is an angle that
that measures exactly 90°. The
symba! ™ indicates a right angle.

An acute angle is an angie
that measures [ess than

AR abtuse angle is an angle
that measures more than
Qe

RutasigHPanale is an angle

that measures 180°,

Caurse 2 . 7 Lo e DU N DERGH O why Aol B

Camrse 2 ;' ¢ ; Capyright © by Hol, Rinénart

An angle is formed by two
rays with a common B o>
endpoint. The two rays are c
the sides of the angle. The
common endpoint is the

vertex.

(°).

W

Angles are measured in degree;

__@d_umm:..i:m b:m_mm___w

Additional Example 1: Classifying Angles

Tell whether each angle is acute, right, obtuse
or straight.

A, B.

obtuse angle acute angle

Cotirse 2 - Fil i, n o . i Capyright @ by Half, TioHAEN




3-2. Classifying b:u_mm

Reading Math

B 1

You can name this angle ZABC,
L CBA, £B, or £1.

Courge 2 S . copyright & by Holt, llrehirt:

Check It Gut: Example 1

Tell whether each angle is acute, right, ohtuse,
or straight.

A. B.

straight angle acute angle

Course 2

Classifying b_._.._m_.mw_ |

If the sum of the measures of two angles is
90°, then the angles are complementary
angles. If the sum of the measures of two
angles is 180°, then the angles are

s mentary angles.

Course 2 - Copyrighit © by Het; Rinihiat

Additional Example 2A: identifying Complementary
and Supplementary Angles
Use the diagram to tell whether the angles are

complementary, supplementary, or neither.
ZOMP and £LPMQ

To find m £PMQ start with the measure fhat QM
crosses, 105°, and subtract the measure| that MP
crosses, 75°. mZPMQ = 105° - 75° = 30°.

ms OMP = 60°,

Since 60° + 30° = 90°,
ZPMQ and ZOMP are
complementary.

‘Cauisa 2 capyright @ by Hol, Rineh



Reading Math

If the angle you are measuring
appears obtuse, then it measure is
greater than 90°. If the angle is
acute, its measure is less than 90°.

T apyright © by Holt, Aok

‘Course 27000

Additional Example 2C: ldentifying Complementary

crosses, 105°, and subtract the measure that MP
crosses, 75°, mZLPMQ = 105° - 75°
mZQMR = 75°.

Since 30° + 75° = 105°,
ZPM@Q and ZQMR are
neither complementary
or supplementary.

‘Caurse 25 Capyright &by Hokt Rint

Additional Example 2B: ldentifying Complementary
and Supplementary Angles

Use the diagram to tell whether the angles are

complementary, supplementary, or neither.

ZNMO and £ZOMR
mLNMO = 15° and mZOMR = 165°

Since 15°% + 165° = 180°, L Q
LNMO and LOMR are .
supplementary.

.....

Read mZNMO as
“the measure of
angle NMO.”

Conyse'2 - .

Check it Out: Example|ZA

Use the diagram to tell whether the m:m_m.m are
complementary, supplementary, or neither.

LBAC and LCAF
MZLBAC = 35° and mZCAF = 145°
Since 35° + 145° = 180°, D
ZBAC and ZCAF are zééw@zgf
supplementary. o B WU P oas E
C % L. h;\ iy’
s el A
N g
f A
 Wand e
hw._l MI}. 2 ._. .....\n..ﬂ Um

‘Course’2 °.



Check it Out: Exampie 2B

Use the diagram to tell whether the angles are
complementary, supplementary, or neither.

ZCAD and ZLEAF
To find mZCAD start with the measuref that DA
crosses, 90°, and subtract the measurg that CA
crosses, 35°. mZCAD = 90° - 359 = 55°, mZLEAF
- Wmo. D

Since 55° + 35° = 90°,
ZCAD and ZEAF are
complementary.

L R
o, _n gt B,
" . mez R, ¥

Course 2.

Additional Example 3: Finding Angle Measures

Angles A and B are complementary. If mZA is
56°, what is the m4£B?

Since ZA and ZB are complementary, mZA + m4£B

= 90°,

mZA + mLB = 90°
56° + m«£B = 90°

= 26° —56°

Substitute 56° for mZA.

Subtract 56° from haoth sides
to isolate m £LB.
m<ZB = 34°

The measure of ZB = 34°,

Cotrse 2 -

Check it Out: Example| 20

Use the diagram to tell whether the angles are
complementary, supplementary, or neither.

ZBAC and LEAF
mZBAC = 35° and mZEAF = 35°

Since 35° + 35° = 70°, D
ZBAC and ZFAF are %%ﬁm.h%@

neither supplementary c
or complementary,

Colrsn B e e Capyright € by BOR,RInERI

(@ Classifying Angles.
Check It Out: Example 3

Angles P and Q are supplementary. If mZP is
32°, what is the m4£Q?

Since ZP and ZQ are complementary, mZFP +
mZ(Q = 180°.

mLP +miLQ =

1805 | m£Q = 180° Substitute 32° for m £P.

- 32° - 320  Subtract 32° from both sides
to isolate m.£Q.

mZQ = 148°
The measure of £Q = 148°,

ﬂDEﬁmm H C T e s na_.au_ﬁ_u_: .n_m_%xﬁ-r!_..iwm



Tell whether
obtuse, or st

l.esson Quiz: Part |

each angle is acute, right,
raight.

1.

‘Caursed |

B

R B nuuw.ﬁ_m_:._ﬁ_wwzn :-_._

straight

obtuse

nn..:.mmu

Lesson Quiz: Part H

Use the diagram to tell whether the angles are
complementary, supplementary, or neither.

Ae i
3. LAZB and ZBzZC
4, LBZC and £CZD

5. Angles M and N are supplementary. If £ZM
is 117°, what is m£ZAN? G3°

neither
compiementary

ey

L B n e Copytighit & by slaft, Ringhart &h S







Name : Score :

Date : 9/2

Teacher ;

Name the vertex and sides of each angle.

9) 11) k

. ]l
w2l Math-Aids.Com E@



Name : Score :
Teacher : Date : H ,/ 3
Classify each angle as acute, obtuse, right, or straight.

1) \ 6) -

2) ~___ 7) V

3) [ 8) ./

4) ~ 9) 1/

5 ) < 10) \/

11) 15° 16) s51°

12) 176° 17) 3°

13) 138° 18) 41°

14) 180° 19) o90°

15) 169° 20) 110°




Name : Score :

Teacher : Date : 4/13
Find the missing angle measurement in each set of supplementary angles.
+ % =80
’ J,..rjg% —p
X = 11p°
] af“'"q\"\.l -3
1) 57 ? 2) g?;_f_'_?b ! 70
R s T F e " H
Angle = Angle= 11 0P
H j{dO ¥ 72180
_ | 48 I 0 s
7 =0 5
3) ? 131° 4) 140° (89 ?
E F <] : Q GR
Angle = Angle = YO

e ¥
5 ) 127° ? 6 ) ? H 8o 33°
. . z 1
M N 0] u] [ Q
Angle = Angle = 7 e
74 24=/80
g1 =3
7 ) 65 7 8 ) 2 1 =Yl 34°
6 H J N 0 P N
Angle = Angle = _} Yo
T F I ? .
R
725
9) 106° 2 10) 55° 2
o R s c D g
Angile = ‘ Angle = f&ﬁ

Xi

~ [a]%:T
%3 Math-Aids.Com @




Name :
Teacher:

Score :
Date :

4/13

Find the missing angle measurement in each set of complementary angles.

G1 " E 310 H 3’.{-4:‘?0 L’zao o
e -31 -3
o o ? :'5% -
48 ! ?
1) 2) - 3)
H K F G M N
Angle=___ Angle = HY e Angle =
o " S T S+ 7290
48 P42+ 1:906 ? ‘ S0 =50 -5
-3 43 L 7240
4) S 5) 32° 6) ?
s} E J K K L
Angie = _ 471 ¢ Angie = Angle= 0O°
M R v Ky
? . 16° et 7:=F0 ”
g =il :
?
49° 7Y N
7) 8) 9) 23°
N [+] g T L M
Angle=__ Angle = 7Ej ° Angle =
Py B .
[ » 4 BI+7=90 i B S
-3 -5l -£s=éz? dote
510 ?:Bq . %&‘f
10) 11) e
Q R c u]
Angle=__ 29 ° Angle =




Name : Score :
Teacher : | Date : ’f/ /4

Find the missing vertical angles. Ver+ical argies —

b

Oppesue. oegits
iade, TR
bﬁ qﬁmase.%

{ines,

1)y - 2 o
L1= ) L1= '?!
L2 L1 L2= t2=__10¢
L3 L4 L3=___63° L3=__ 71
La=_ 117 La= 10F°
3) 4
L1=__81° )
L2 L1 Lz=___
L3 L4 L3=
La=_ 119

5) 6)

L2 L1

L3 L4 L3=
[4=
7) 8
\ ' L= 142 )
L2 £ L2=_ 38

L3 L4 L3=




DAL g cerde  Thndghe T —
> Congie S %H'\a%— TR é L[[/IL{
& ’é@ﬁ% av Fnd? . S Name

Correctly answer each question below.

1) What is the adjacent angle to ZBAC?

2) What is the adjacent angle to ZBAD?

Z. DAE

3) What is the adjacent angie to ZCAE?

4) What two angles are adjacent angles to ZCAD?

LDAE  ard L CAD

1) What are the two adjacent angles to £37

Figure B.

2) What is the smallest adjacent angle fo £77

LD

3) What are the adjacent angles to £57

Copyright @ 2014 k12mathworkshests.com. All Rights Reserved. Free for educational use at home or in classrooms. www ki Zmathworksheets.com




Name:

Period:

Angles Review: Intersecting Lines

True or False? if false, justify your answer.

1. <ABC and <CBE are vertical angles.

2. <ABC and <ABI are supplementary angles.

3. m<4BD = m<(CBE

4. m<ABD 4+ m<DBE = 180°

5. m<ABC + m<DBE = 180°

6. <CBE and <ABD are adjacent angles.

Find the unknown angle measures.

7.

msi=_157° mL2=

M43 = ms4 =

mZl=

ms3=___

msoz2=
mZzé=__8§2°

Pg. 1



Name: ' Date: H:// [7 Period:

Angles Review: Complementary & Suppiementary

13. If two angles add up to 18C° they are angles.

14, If two angles add up to 90°, they are angles.

What is the measurement of the complementary angle for each measurement given? Show workli

15, 45° 16. 82° ' 17. 23°

What is the measurement of the supplementary angle for each measurement given?

18. 173° 19. 75° 20, s2°
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